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OHANE DEEE SUR
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OXAX E==J| o= 39,0003 122 468
02 3244l 117,344 115,577 1,767
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A= 6,000, 0002 *7CH+90% 37,800
- AZBEYLE FAXE S|
6,740,000 *2CH*90% 12,132
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= 74,350
Al 409,375
- 2,715,091
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250,000 %122 3,000
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200,000& * 128 2,400
301 22N 10,050 10,050
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ONgEsdEd 24 g 7Y
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ONgESHEH SUat A
406,000,000 406,000
MeES SEME XA 148,700 130,000 18,700
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Al 2,500
- 2,500
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ASH - e 356, 4003 * 122 x90% 3,850
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2 S22l 101,780 95,649 6,131
OS=38d 2+ & e Xxq4 6,784
k=t 228,400 *100H 2 2,284
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OSsSetad otadlaE R 13,430
L& ol mxA
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OJEMELSR B2 N
13,5002 %2,978Y 40,203
307 elztol & 2,970 2,970
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O=s38d ANd= 7A 22 £ A&
600,000 *117H 2+90% 5,940
SSetEd SFHE At 3,560 3,560
201 2= 3,560 3,560
02 35244l 3,560 3,560
O(Fel oM SSatEa W &gt ZX
3,560,000& 3,560
Y= ZH(Z23FW) 4,921,207 5,405,410 484,203
QI 2HH(F A 4,874,671 5,357,419 N482,748
el E2d| 4,874,671 5,357,419 N482,748
101 ©1AH| 4,239,473 4,180,075 59,398
02 JIEtA = 123,614 148,133 N24,519
OAIZHAERRIZQDIHI(XI L2 E ) 116,893
JlEa 2,295,500 «3H « 122 82,638
IEE 150,000 x3&* 12 5,400
- AEEX| 153, 12024 +3&* 122 5,513
- ZAHG A 140,000& x32* 123 5,040
- el &S| 43,7502 x3& * 122 1,575
- ZN2R4Y 293, 1202132128 10,553
RPN
2,295,500 *3H B4%+80%+1/30%1/7+98 Al 2t 2,322
SA2sd 107,0002x3&* 122 3,852
O=ggs R8s 6,721
=0ALEE 116,891,640 +3.545% 4,144
LA RUYLE 4,144,000 %12.81% 531
NEZE= 116,891,640 1.75% 2,046
03 SR (RIH )22 U2+ 4,115,859 4,031,942 83,917
OJlZ= 3,716,740 x65F « 12& 2,899,058
OtE+¢ 78,000
BN, 40,0002 x50 122 24,000
JIEt 20,0003 =20+ 122 4,800
M 30,0002 *x30& ~ 128 10,800




SN HAHEI
M HYRAZH(HLF L)
Cel: A2 HH|(HAMEDL) (CHe: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=M 70,0002 x30E « 12 25,200
- MIXHA Ol 2 110,0002 102+ 122 13,200
OZA=AHI 140,000 x65E * 122 109,200
OEZEFItl 3,716, 7402 65 »8(0% 193,271
OszEeAS 4o
100,000 ~8&*12& 9,600
o¥ll2s=+¢ 6,360
V2S4S 20,0008 x 18 x 122 240
523014 30,0002 x17E~ 128 6.120
O ] 121,490 x65E ~60! 473,811
Ogxt=ra=+¢ 61,9903 x65H *20 210,587
Oousrdiid sttt X3
300,000 18 *13] 5,400
oortz2e=g 40,4902 6 1256 30,368
OFGER BB =2
2,000,000 +3H 6,000
OJIZ2HLFHEE RRH 2
50,0008 x4 x 122 2,400
OS24 d1lta0=
3,716, 7402 «65 2 *38% 91,804
VEEEEEE 635,198 1,177,344 ~542,146
0 D2H(RDHH 2N PHELLD = 635,198 1,177,344 A542,146
OZ2A 201013 J|2 293
303,872,000& *12& 4. 5% 164,091
OTIZE T2t L3
303,872,000 * 123 * 1% 36,465
O1nE:L" I BE=
303,872,000« 123 x1.75% 63,814
Os=2A gddugd=s 225,000,000 225,000
O=eA2EE J|& 283 145,828
AHEE 303,872,000& 122 +3.545% 129,268
A RLES 129,268,000 *12.81% 16,560
JlE2ZHI(ZFA-”E) 46,536 47,991 A1,455
2AII=Z3H 46,536 47,991 A1,455
201 er23| 10,196 10,119 7
01 At2tltl 10,196 10,119 w7
ORNEgII=2+8HI
24,0002+ 182 » 12«00k 4,666
OJlzge-d3gll
8,000 »4A!x18H « 123 »80% 5,530
202 04| 33,100 34,272 A1172
01 =LHO LI 33,100 34,272 AT1172
OFRAMZUHSZE0LI 33,100,000 33,100
203 HR=H] 3,240 3,600 A360
M EAEER=A 3,240 3,600 A360
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SA - Z3F - SRA(E) - HRAEY

0

300,000 * 122 «90%




